A hierarchy of nonlinear evolution equations and finite-dimensional involutive systems

Zhijun Qiao

CCAST (World Laboratory) P.O. Box 8730, Beijing, 100080 and Department of Mathematics, Liaoning University, Shenyang 110036, People's Republic of China^{a)}

(Received 23 September 1993; accepted for publication 3 February 1994)

A spectral problem and an associated hierarchy of nonlinear evolution equations are presented in this article. In particular, the reductions of the two representative equations in this hierarchy are given: one is the nonlinear evolution equation $r_t = -\alpha r_x - 2i\alpha\beta |r^2|r$ which looks like the nonlinear Schrödinger equation, the other is the generalized derivative nonlinear Schrödinger equation $r_t = \frac{1}{2}i\alpha r_{xx} - i\alpha |r|^2 r - \alpha\beta(|r|^2 r)_x - \alpha\beta |r|^2 r_x - 2i\alpha\beta^2 |r|^4 r$ which is just a combination of the nonlinear Schrödinger equation and two different derivative nonlinear Schrödinger equations [D. J. Kaup and A. C. Newell, J. Math. Phys. **19**, 789 (1978); M. J. Ablowitz, A. Ramani, and H. Segur, J. Math. Phys. **21**, 1006 (1980)]. The spectral problem is nonlinearized as a finite-dimensional completely integrable Hamiltonian system under a constraint between the potentials and the spectral functions. At the end of this article, the involutive solutions of the hierarchy of nonlinear evolution equations are obtained. Particularly, the involutive solutions of the reductions of the two representative equations are developed.

I. INTRODUCTION

It is well known that the inverse scattering transformation¹ (IST) method plays an important role in solving many nonlinear evolution equations^{2–9} such as Korteweg–de Vries (KdV), nonlinear Schrödinger, sine-Gordon, and other nonlinear differential equations which have great application in physics. But the main difficulty of the IST method lies in finding an appropriate spectral problem for a given nonlinear evolution equation. Hence, it is interesting for us to search for as many new spectral problems and corresponding nonlinear evolution equations as possible in soliton theory. In 1989, Tu¹⁰ proposed a so-called loop algebra scheme to generate integrable evolution equations from the spectral problem. According to this method, many integrable nonlinear evolution equations, their trace identities, and Hamiltonian structures are successively obtained.^{11–15}

In this article we introduce the spectral problem

$$y_{x} = My, \quad y = \begin{pmatrix} y_{1} \\ y_{2} \end{pmatrix}, \quad M = \begin{pmatrix} -iu & \lambda + v + \beta(u^{2} - v^{2}) \\ -\lambda + v - \beta(u^{2} - v^{2}) & iu \end{pmatrix}, \quad i = \sqrt{-1},$$
(1.1)

which is a simple extension of the Dirac eigenvalue problem¹⁶

$$y_x = My, \quad M = \begin{pmatrix} -iu & \lambda + v \\ -\lambda + v & iu \end{pmatrix},$$

where u and v are two scalar potentials, λ is a constant spectral parameter and β is a constant. Using the spectral gradient of spectral value λ with respect to the potentials u and v, which was

0022-2488/94/35(6)/2971/7/\$6.00 J. Math. Phys. **35** (6), June 1994

^{a)}Mailing address.

cited earliest by $Fokas^{17}$ in 1982 to obtain hereditary symmetries for Hamiltonian systems, we derive a new hierarchy of nonlinear evolution equations associated with Eq. (1.1). The two representative systems of equations in this hierarchy are as follows:

$$\int u_t = -\alpha u_x + 2i\alpha\beta v(u^2 - v^2), \qquad (1.2a)$$

$$v_t = -\alpha v_x + 2i\alpha\beta u(u^2 - v^2),$$
 (1.2b)

and

$$\int u_t = \frac{1}{2} i \alpha v_{xx} + i \alpha v (u^2 - v^2) + \alpha \beta (u(u^2 - v^2))_x + \alpha \beta (u^2 - v^2) u_x - 2i \alpha \beta^2 v (u^2 - v^2)^2, \quad (1.3a)$$

$$v_t = \frac{1}{2}i\alpha u_{xx} + i\alpha u(u^2 - v^2) + \alpha\beta(v(u^2 - v^2))_x + \alpha\beta(u^2 - v^2)v_x - 2i\alpha\beta^2 u(u^2 - v^2)^2.$$
(1.3b)

As α , β are two real numbers and u=i Im r, v=Re r, Eqs. (1.2) and (1.3) are reduced to a nonlinear evolution equation

$$r_t = -\alpha r_x - 2i\alpha\beta |r|^2 r \tag{1.4}$$

and a generalized derivative nonlinear Schrödinger equation (GDNSE)

$$r_{t} = \frac{1}{2}i\alpha r_{xx} - i\alpha |r|^{2}r - \alpha\beta(|r|^{2}r)_{x} - \alpha\beta|r|^{2}r_{x} - 2i\alpha\beta^{2}|r|^{4}r.$$
 (1.5)

respectively. The former looks like the well-known nonlinear Schrödinger equation, the latter is just a combination of the nonlinear Schrödinger equation and two derivative nonlinear Schrödinger equations.^{18,19} Through the nonlinearization²⁰ of the spectral problem (1.1), which has already been applied successfully to generate completely integrable systems in the Liouville sense and obtain the involutive solutions of nonlinear evolution equations,²¹⁻³³ we give a finite-dimensional completely integrable Hamiltonian system in the Liouville sense. Furthermore, the involutive solutions of this hierarchy of nonlinear evolution equations are obtained. In particular, the involutive solutions of the nonlinear evolution equation (1.4) and the GDNSE (1.5) are given.

II. THE HIERARCHY OF NLEES ASSOCIATED WITH EQ. (1.1)

Consider the spectral problem (1.1). Let λ and $y = (y_1, y_2)^T$ be the spectral value and the associated spectral function of Eq. (1.1). It is easy to calculate the spectral gradient $\nabla \lambda = (\delta \lambda / \delta u, \delta \lambda / \delta v)^T$ of spectral value λ with respect to the potentials u and v

$$\nabla \lambda = \begin{pmatrix} \frac{\delta \lambda}{\delta u} \\ \frac{\delta \lambda}{\delta v} \end{pmatrix} = \begin{pmatrix} -2iy_1y_2 + 2\beta u(y_1^2 + y_2^2) \\ -y_1^2 + y_2^2 - 2\beta v(y_1^2 + y_2^2) \end{pmatrix}.$$
 (2.1)

Noting

$$\frac{1}{2} (y_1^2 + y_2^2)_x = i \left(v \frac{\delta \lambda}{\delta u} + u \frac{\delta \lambda}{\delta v} \right), \qquad (2.2)_1$$

$$\frac{1}{2}(y_2^2 - y_1^2)_x = iu(y_1^2 + y_2^2) - 2\lambda y_1 y_2 - 2\beta (u^2 - v^2) y_1 y_2, \qquad (2.2)_2$$

$$(y_1y_2)_x = \lambda(y_2^2 - y_1^2) + \upsilon(y_1^2 + y_2^2) + \beta(u^2 - \upsilon^2)(y_2^2 - y_1^2), \qquad (2.2)_3$$

we have the following proposition:

J. Math. Phys., Vol. 35, No. 6, June 1994

Proposition 2.1:

$$K\nabla\lambda = \lambda \cdot J\nabla\lambda, \qquad (2.3)$$

where K and J are two operators $(\partial = \partial/\partial x, \partial \partial^{-1} = \partial^{-1} \partial = 1)$

$$K = \begin{pmatrix} -\partial + 4i\beta\partial u\partial^{-1}v + 4v\partial^{-1}v + 8\beta^{2}v(u^{2} - v^{2})\partial^{-1}v & 4i\beta\partial u\partial^{-1}u + 4v\partial^{-1}u + 8\beta^{2}v(u^{2} - v^{2})\partial^{-1}u - 2i\beta(u^{2} - v^{2})\partial^{-1}u \\ 4i\beta\partial v\partial^{-1}v + 4u\partial^{-1}v + 8\beta^{2}u(u^{2} - v^{2})\partial^{-1}v + 2i\beta(u^{2} - v^{2})\partial^{-1}u & \partial^{+}4i\beta\partial v\partial^{-1}u + 4u\partial^{-1}u + 8\beta^{2}u(u^{2} - v^{2})\partial^{-1}u \end{pmatrix},$$

$$J = \begin{pmatrix} -8\beta v \partial^{-1} v & 2i - 8\beta v \partial^{-1} u \\ -2i - 8\beta u \partial^{-1} v & -8\beta u \partial^{-1} u \end{pmatrix}, \quad J^* = -J,$$

which are called the pair of Lenard's operators of Eq. (1.1).

Proof. Directly calculate.

Consider the Lenard's gradient sequences G_i defined by

$$KG_{j-1} = JG_j, \quad j = 1, 2, ..., \quad G_0 = \alpha (u, -v)^T \in \text{Ker } J,$$
 (2.4)

where α is an arbitrary constant. The vector fields $X_m \triangleq KG_m$ yield the hierarchy of nonlinear evolution equations (NLEEs) associated with Eq. (1.1)

$$\binom{u}{v}_{t_m} = X_m(u,v) = K(J^{-1}K)^m G_0, \quad m = 0, 1, 2, \dots$$
 (2.5)

The first and second systems of evolution equations in the hierarchy (2.5) are

$$\begin{cases} u_t = -\alpha u_x + 2i\alpha\beta v(u^2 - v^2), \\ v_t = -\alpha v_x + 2i\alpha\beta u(u^2 - v^2), \end{cases}$$

and

$$\begin{bmatrix} u_t = \frac{1}{2}i\alpha v_{xx} + i\alpha v(u^2 - v^2) + \alpha\beta(u(u^2 - v^2))_x + \alpha\beta(u^2 - v^2)u_x - 2i\alpha\beta^2 v(u^2 - v^2)^2, \\ v_t = \frac{1}{2}i\alpha u_{xx} + i\alpha u(u^2 - v^2) + \alpha\beta(v(u^2 - v^2))_x + \alpha\beta(u^2 - v^2)v_x - 2i\alpha\beta^2 u(u^2 - v^2)^2, \end{bmatrix}$$

respectively. As $\alpha, \beta \in R$ and $u = i \operatorname{Im} r$, $v = \operatorname{Re} r$, the former can be reduced to the nonlinear equation (1.4) whose physical property is to be known, and the latter can be reduced to the GDNSE (1.5).

III. FINITE-DIMENSIONAL INVOLUTIVE SYSTEMS AND AN INTEGRABLE SYSTEM

The Poisson bracket of two functions in the symplectic space $(R^{2N}, dp \wedge dq)$ is defined by³⁴

$$(F,G) = \sum_{j=1}^{N} \left(\frac{\partial F}{\partial q_j} \frac{\partial G}{\partial p_j} - \frac{\partial F}{\partial p_j} \frac{\partial G}{\partial q_j} \right) = \langle F_q, G_p \rangle - \langle F_p, G_q \rangle.$$
(3.1)

F, G are called involutive, if (F,G)=0. Let $\lambda_1 < \cdots < \lambda_N$ and define

J. Math. Phys., Vol. 35, No. 6, June 1994

Downloaded 26 Aug 2003 to 128.165.156.80. Redistribution subject to AIP license or copyright, see http://ojps.aip.org/jmp/jmpcr.jsp

$$\Gamma_k = \sum_{\substack{j=1\\j\neq k}}^N \frac{B_{kj}^2}{\lambda_k - \lambda_j}, \quad B_{kj} = p_k q_j - q_k p_j.$$
(3.2)

By virtue of the equalities

$$(\langle p, p \rangle, p_k^2) = (\langle q, q \rangle, q_k^2) = 0, \quad (p_k^2, p_l^2) = (q_k^2, q_l^2) = 0, \quad (3.3)_1$$

$$(\langle p, p \rangle, \Gamma_k) = (\langle q, q \rangle, \Gamma_k) = (\Gamma_k, \Gamma_l) = 0, \qquad (3.3)_2$$

$$(\langle q,q\rangle,p_k^2) = (q_k^2,\langle p,p\rangle) = 4p_k q_k, \qquad (3.3)_3$$

$$(q_l^2, p_k^2) = (q_k^2, p_l^2) = 4q_k p_l \delta_{kl}, (\langle q, q \rangle, \langle p, p \rangle) = 4\langle q, p \rangle, \qquad (3.3)_4$$

$$(\Gamma_{k}, p_{l}^{2}) = 4(\lambda_{k} - \lambda_{l})^{-1} p_{k} p_{l} B_{kl}, \quad (\Gamma_{k}, q_{l}^{2}) = 4(\lambda_{k} - \lambda_{l})^{-1} q_{k} q_{l} B_{kl}$$
(3.3)₅

we easily verify the following proposition:

Proposition 3.1: Let

$$E_{k} = \frac{1}{2} (1 - 2(\langle p, p \rangle + \langle q, q \rangle)) (p_{k}^{2} + q_{k}^{2}) + \Gamma_{k}, \quad k = 1, 2, \dots, N.$$
(3.4)

Then E_1, \ldots, E_N compose an N-involutive system, that is $(E_k, E_1) = 0$. Define a bilinear function $Q_z(\xi, \eta)$ on \mathbb{R}^N

$$Q_{z}(\xi,\eta) \equiv \langle (z-\Lambda)^{-1}\xi,\eta \rangle = \sum_{k=1}^{N} (z-\lambda_{k})^{-1}\xi_{k}\eta_{k} = \sum_{m=0}^{\infty} z^{-m-1} \langle \Lambda^{m}\xi,\eta \rangle.$$
(3.5)

The generating function of Γ_k is given by (see Refs. 35,36)

$$\begin{vmatrix} Q_z(q,q) & Q_z(q,p) \\ Q_z(p,q) & Q_z(p,p) \end{vmatrix} = \sum_{k=1}^N \frac{\Gamma_k}{z - \lambda_k}.$$
(3.6)

Thus the generating function of E_k is

$$\frac{1}{2} (1 - 2(\langle q, q \rangle + \langle p, p \rangle))(Q_z(p, p) + Q_z(q, q)) + \begin{vmatrix} Q_z(q, q) & Q_z(q, p) \\ Q_z(p, q) & Q_z(p, p) \end{vmatrix} = \sum_{k=1}^N \frac{E_k}{z - \lambda_k}.$$
 (3.7)

Substituting Eq. (3.5) and $(z-\lambda_k)^{-1} = \sum_{m=0}^{\infty} z^{-m-1} \lambda_k^m$ into both sides of Eq. (3.7), respectively, we get

Proposition 3.2: Let

$$F_m = \sum_{k=1}^{N} \lambda_k^m E_k, \quad m = 0, 1, 2, \dots,$$
(3.8)

then

$$F_0 = \frac{1}{2} (1 - 2(\langle q, q \rangle + \langle p, p \rangle))(\langle p, p \rangle + \langle q, q \rangle), \tag{3.9}$$

J. Math. Phys., Vol. 35, No. 6, June 1994

Downloaded 26 Aug 2003 to 128.165.156.80. Redistribution subject to AIP license or copyright, see http://ojps.aip.org/jmp/jmpcr.jsp

$$F_{m} = \frac{1}{2} (1 - 2(\langle q, q \rangle + \langle p, p \rangle))(\langle \Lambda^{m} p, p \rangle + \langle \Lambda^{m} q, q \rangle) + \sum_{j=1}^{m} \begin{vmatrix} \langle \Lambda^{j-1} q, q \rangle & \langle \Lambda^{j-1} q, p \rangle \\ \langle \Lambda^{m-j} p, q \rangle & \langle \Lambda^{m-j} p, p \rangle \end{vmatrix}$$
(3.10)

and $(F_k, F_1) = 0, \forall k, 1 \in \mathbb{Z}^+$.

Proposition 3.3: The Hamiltonian systems

$$(F_m):q_{t_m} = \frac{\partial F_m}{\partial p}, \quad p_{t_m} = \frac{\partial F_m}{\partial q}$$
 (3.11)

are completely integrable in the Liouville sense.

Let λ_j (j=1,2,...,N) and $y=(q_j,p_j)^T$ be N different spectral parameters and corresponding solutions of Eq. (1.1). Consider the Bargmann constraint (Ref. 21): $G_0|_{\alpha=1} = \sum_{j=1}^N \nabla \lambda_j$, that is,

$$u = \frac{2i\langle p,q \rangle}{1 - 2\beta(\langle q,q \rangle + \langle p,p \rangle)}, \quad v = \frac{\langle p,p \rangle - \langle q,q \rangle}{1 - 2\beta(\langle q,q \rangle + \langle p,p \rangle)}.$$
(3.12)

The nonlinearization of Eq. (1.1) under Eq. (3.12) gives the Hamiltonian system

$$(H): \begin{cases} q_x = \Lambda p + \frac{2\langle p,q \rangle q + (\langle p,p \rangle - \langle q,q \rangle)p}{1 - 2\beta(\langle q,q \rangle + \langle p,p \rangle)} - \beta \frac{4\langle p,q \rangle^2 + (\langle p,p \rangle - \langle q,q \rangle)^2}{(1 - 2\beta(\langle q,q \rangle + \langle p,p \rangle))^2} p = \frac{\partial H}{\partial p}, \\ p_x = -\Lambda q + \frac{-2\langle p,q \rangle p + (\langle p,p \rangle - \langle q,q \rangle)q}{1 - 2\beta(\langle q,q \rangle + \langle p,p \rangle)} + \beta \frac{4\langle p,q \rangle^2 + (\langle p,p \rangle - \langle q,q \rangle)^2}{(1 - 2\beta(\langle q,q \rangle + \langle p,p \rangle))^2} q = -\frac{\partial H}{\partial q}, \\ (3.13)$$

with the Hamiltonian function

$$H = \frac{1}{2} \langle \Lambda p, p \rangle + \frac{1}{2} \langle \Lambda q, q \rangle - \beta \frac{4 \langle p, q \rangle^2 + (\langle p, p \rangle - \langle q, q \rangle)^2}{4 - 8\beta(\langle p, p \rangle + \langle q, q \rangle)} .$$
(3.14)

Proposition 3.4: The Hamiltonian system (3.13) is completely integrable in the Liouville sense in the symplectic manifold $(R^{2N}, dp \wedge dq)$ and its involutive system is $\{F_m\}$.

Proof. Through some careful calculations, we obtain $(H, F_m) = 0, m = 0, 1, 2, ...$. So, the above result is correct.

IV. THE INVOLUTIVE SOLUTIONS OF THE HIERARCHY (2.5)

Denote the solution operators of the initial-value problems of the integrable Hamiltonian systems (H) and (F_m) by g_0^x and $g_m^{t_m}$, respectively. $(H, F_m) = 0$ implies their own flows g_0^x , $g_m^{t_m}$ commute (see Ref. 34). Then the involutive solution of the consistent equations (H) and (F_m)

$$\begin{pmatrix} q(x,t_m) \\ p(x,t_m) \end{pmatrix} = g_0^x g_m^{t_m} \begin{pmatrix} q(0,0) \\ p(0,0) \end{pmatrix}$$
(4.1)

is a smooth function of (x, t_m) .

Proposition 4.1: Let $(q(x,t_m),p(x,t_m))^T$ be an involutive solution of the compatible systems (H) and (F_m) . Then

$$u(x,t_m) = \frac{2i\langle p,q \rangle}{1 - 2\beta(\langle q,q \rangle + \langle p,p \rangle)}, \quad v(x,t_m) = \frac{\langle p,p \rangle - \langle q,q \rangle}{1 - 2\beta(\langle q,q \rangle + \langle p,p \rangle)}$$
(4.2)

satisfy the NLEEs

J. Math. Phys., Vol. 35, No. 6, June 1994

Downloaded 26 Aug 2003 to 128.165.156.80. Redistribution subject to AIP license or copyright, see http://ojps.aip.org/jmp/jmpcr.jsp

$$\binom{u}{v}_{t_m} = K(J^{-1}K)^m G_0|_{\alpha=1}, \quad G_0|_{\alpha=1} = (u, -v)^T, \quad m = 0, 1, 2, \dots$$
 (4.3)

Proof. Substituting Eqs. (3.11) and (3.10) into the t_m derivative formula of Eq. (4.2), and noticing $G_0|_{\alpha=1} = \sum_{j=1}^{N} \nabla \lambda_j$ and Eq. (2.3), through a lengthy calculations we can know that Eq. (4.3) holds.

If we choose m=0,1 in Proposition 4.1, then we can obtain the solution representations of Eqs. (1.4) and (1.5), respectively. Hence, we have

Corollary 4.2: Let $(q(x,t_0),p(x,t_0))^T$ and $(q(x,t_1),p(x,t_1))^T$ be an involutive solution of the compatible systems (H), (F_0) and (H), (F_1) , respectively. Let

$$u(x,t_j) = \frac{2i\langle p(x,t_j), q(x,t_j) \rangle}{1 - 2\beta(\langle q(x,t_j), q(x,t_j) \rangle + \langle p(x,t_j), p(x,t_j) \rangle)},$$
(4.4)

$$v(x,t_j) = \frac{\langle p(x,t_j), p(x,t_j) \rangle - \langle q(x,t_j), q(x,t_j) \rangle}{1 - 2\beta(\langle q(x,t_j), q(x,t_j) \rangle + \langle p(x,t_j), p(x,t_j) \rangle)},$$
(4.5)

$$r(x,t_j) = v(x,t_j) + u(x,t_j) = \frac{\langle p(x,t_j) + iq(x,t_j), p(x,t_j) + iq(x,t_j) \rangle}{1 - 2\beta(\langle q(x,t_j), q(x,t_j) \rangle + \langle p(x,t_j), p(x,t_j) \rangle)}, \quad (j = 0,1).$$
(4.6)

Then $r(x,t_0)$ and $r(x,t_1)$ satisfy the nonlinear equation

$$r_{t_0} = -r_x - 2i\beta |r|^2 r \tag{4.7}$$

and the GDNSE

$$r_{i_1} = \frac{1}{2}ir_{xx} - i|r|^2 r - \beta(|r|^2 r)_x - \beta|r|^2 r_x - 2i\beta^2|r|^4 r,$$
(4.8)

respectively.

- ¹C. S. Gardner, J. M. Greene, M. D. Kruskal, and R. M. Miura, Phys. Rev. Lett. 19, 1095 (1976).
- ²M. J. Ablowitz and H. Segur, Soliton and Inverse Scattering Transform (SIAM, Philadelphia, 1981).
- ³A. C. Newell, Solitons in Mathematics and Physics (SIAM, Philadelphia, 1985).
- ⁴V. E. Zakharov, Sov. Phys. JETP. 33, 538 (1971).
- ⁵M. Wadati, K. Konno, and Y. H. Ichikawa, J. Phys. Soc. Jpn. 47, 1698 (1979).
- ⁶A. S. Fokas, J. Math. Phys. 21, 1318 (1980).
- ⁷M. Ito, Phys. Lett. A 91, 335 (1982).
- ⁸M. Boiti and G. Tu, Nuovo Cimento B 75, 145 (1983).
- ⁹X. Geng, Phys. Lett. A 147, 491 (1990).
- ¹⁰G. Tu, Sci. Sinica A 32, 142 (1989).
- ¹¹G. Tu, J. Phys. A. 22, 2375 (1989).
- ¹²G. Tu, J. Math. Phys. 30, 330 (1989).
- ¹³G. Tu and D. Meng, Acta Math. Appl. Sinica (English Series) 5, 89 (1989).
- ¹⁴X. Hu, Northeast. Math. J. (China) 6, 187 (1990).
- ¹⁵X. Geng, Physica A **180**, 241 (1992).
- ¹⁶B. M. Levitan and I. S. Sargsjan, Introduction to Spectral Theory: Self-Adjoint Ordinary Differential Operator (American Mathematical Society, Providence, RI, 1975).
- ¹⁷A. S. Fokas and R. L. Anderson, J. Math. Phys. 23, 1066 (1982).
- ¹⁸D. J. Kaup and A. C. Newell, J. Math. Phys. 19, 798 (1978).
- ¹⁹M. J. Ablowitz, A. Ramani, and H. Segur, J. Math. Phys. 21, 1006 (1980).
- ²⁰C. Cao, Sci. Sinica A 33, 528 (1990).
- ²¹C. Cao and X. Geng, in *Nonlinear Physics*, Research Reports in Physics, edited by C. Gu, Y. Li, and G. Tu (Springer, Berlin, 1990), p. 68.
- ²²C. Cao and X. Geng, J. Phys. A 23, 4117 (1990).
- ²³M. Antonowicz and S. Rauch-Wojciechowski, Phys. Lett. A 147, 455 (1990).

- ²⁴ M. Antonowicz and S. Rauch-Wojciechowski, J. Phys. A 24, 5043 (1991).
- ²⁵ Y. Zeng and Y. Li, J. Math Phys. 30, 1679 (1989).
- ²⁶ Y. Zeng and Y. Li, J. Math Phys. 31, 2835 (1990).
- ²⁷ X. Geng, Phys. Lett. A 162, 375 (1992).
- ²⁸ X. Geng, J. Math. Phys. 34, 805 (1993).
- ²⁹Z. Qiao, Phys. Lett. A 172, 224 (1993).
- ³⁰Z. Qiao, J. Math. Phys. 34, 3110 (1993).
- ³¹Z. Qiao, J. Phys. A 26, 4407 (1993).
- ³²Z. Qiao, Proceedings of the 2nd International Conference on Nonlinear Mechanics, Beijing, 1993, edited by Wei-zang Chien (Peking University Press, Beijing, China, 1993), p. 729.
- 33 Z. Qiao, J. Math. Phys. 35, 2978 (1994).
- ³⁴ V. I. Arnol'd, Mathematical Methods of Classical Mechanics (Springer, Berlin, 1978).
- ³⁵ J. Moser, Proceedings of the 1983 Beijing Symposium on Differential Geometry and Differential Equations (Science, Beijing, 1986), p. 157.
- ³⁶C. Cao, Henan Sci. 5, 1 (1987).